Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)

Time — 1 & Half Hrs Class-VII (English) M.M.-40

Read the following passage carefully:

Although many small streams comprise the head waters of the Ganges, the six longest head
streams and their five confluences are given both cultural and geographical emphasis; the
Alaknanda river, meets the Dhauliganga at Vishnuprayag, the Mandakini river at Nandrayag, the
Pinder river at Karnaprayag, the Mandakini river at Rudraprayag and finally the Bhagirathi river at
Devprayag, to form the mainstream, the Ganges.

After following 200kms through its narrow Himalayan valley, the Ganges descends on the Ganga
Plain at the pilgrimage town of Haridwar. At Haridwar, a dam diverts some of its water into the
Ganges Canal, which irrigates the Doab region of Uttar Pradesh. The Ganges, whose course has
been roughly southwestern until this point, now begins to flow southeast through the plains of
northern India.

Further, the river follows an 800 km curving course, joined from the southwest by the Yamuna at
Allahabad. This point is known as the Sangam at Allahabad. Sangam is a sacred place in Hinduism.
According to ancient Hindu texts, at onetime a third river, the Saraswati met the other two rivers at
this point.

Write the correct options to complete the sentence. (1X5=5)

i) The Alaknanda meets Dhauliganga at:
a) Rudraprayag

b) Devprayag

¢) Vishnuprayag

d) A confluence

ii) ‘Comprise’ means

a) Make up

b) Constitute

c) Are parts of

d) Compromise

iii) At Allahbad the Ganga is joined by

a) Mandakini

b) Pindar

c) Ganges canal

d) Yamuna

iv) According to ancient Hindu texts which third river joined Ganges at Sangam?

a) Alaknanda
b) Bhagirathi
c) Saraswati
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d) Indus
v) The Ganges begins to flow southeast at:

a) Haridwar
b) Allahabad
c) Doab

d) Kanpur

Read the passage and answer the following questions. (1x5=5)

Cows are found in almost all the countries of the world. In India there are different breeds of cows
. Those of Gujarat and Kathiawar are large and they yield much milk, while those of the Deccan and
Bengal are low in stature and are not good milkers. The European cows yield seven times more milk
than the Indian cows. This is because in Europe a cow is better fed and kept. Cows in Europe,
however, are not so tame and mild there as those of India. Boys and girls cannot go near a cow
there as they do in India. Milk supplied by cow is one of the most whole-some foods, especially for
infants and children.

a) Name a good breed of Indian cows.

b) What do you know about the cows of Europe?

c¢) Why does the cow in Europe yield seven times more milk than Indian cows?
d) Which is the best food for children and infants?

e) Name two other animals that gives us milk.

You are Samrat/Simran, the Cultural Secretary of your school, the Global School,

Pune. The school is organizing an interclass debate competition for

classes VI to X. Prepare a notice for your schools notice board asking

students to participate in the competition. (5)
Write a letter to your cousin narrating her how you helped somebody one day. (5)
Choose appropriate option to fill in the blanks in the sentences given below. (4)
People living around an oasis depend (i) their living entirely on the careful use
(ii) small quantity of water. Every inch of land is utilized to grow as (iii) foods
items as possible. The desert soil (iv) fertile there, and the hot sun causes quick
ripening.

()  (a)for (b)on (c)at (d)none of these

(i)  (a)to (b)of (c) off (d)in

(i) (a) much (b) many (c) little (d) huge

(iv)  (a) was(b) can (c) is (d) does

Choose the correct word from those in the brackets: (4)

a) The Earth round the sun. (moves, move, moved)
b) Here the bus. (come, coming, comes)




10.

11.

12.

13.

c) Our guests , they are sitting in the garden. (arrived, have arrived, had arrived)
d) He out five minutes ago. (has gone, had gone, went)

Read the following extract and answer the questions that follow. Choose the right option form the
following. (3)

He wore a question mark for tail

An overcoat of gray

He sat up straight to eat a nut

He liked to tease and play

(i) Who is poet of the poem?

a) William Shakespeare

b) Mildred Bowers Armstrong

c¢) John Keats

(ii) Who is referred to ‘he’ in the extract?
a) the squirrel

b) the poet

c) none of these

(iii) ‘He liked to tease and play’. Who is teasing whom?
a) The squirrel is teasing the poet

b) The poet is teasing the squirrel

c) Both are teasing each other

Mahendran looked up, alarmed. He had just been sharpening his claws on he edge of he coconut
shell. But worse than Ravi’s aweful whook EEK was a ‘kreech----!’ (3)

(i) What was Mahendran?
(ii) Who made the ‘Kreech’ sound?

(iii)This extract is from which lesson?

In the lesson, The Three questions, who was the bearded man? (2)
Why did Kari push his friend into the stream? (2)

What jobs are the new ants trained for? (2)
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Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)
Time — 1 & Half Hrs Class-VII (MATHEMATICS) M.M.-40

| ANSWER THE FOLLOWING QUESTIONS 3X1=3M

1. The sum of two integers is 71, if one of them is - 101, then the other integer
is

2. The value of 0.3X1000 is

3. In a set of observations, the observation that occurs the most often is called

Il ANSWER THE FOLLOWING QUESTIONS 3X2=6M

1. Find Median of first 7 prime numbers.
2. The side of an equilateral triangle is 3.5cm, find its perimeter.

3. Arrange the following in descending order 2/9, 2/3, 8/21 .

Il ANSWER THE FOLLOWING QUESTIONS 5X3=15M

1. An elevator descends into a mine shaft at the rate of 6m/minute, if its
descent starts from 10m above the ground level how long will it take to reach -
350m.

2. Saili plants 4 saplings in a row, in her garden, the distance between two
adjacent saplings is 3/4m, find the distance between the first and the last
sapling.




3. Find the mean of first 10 natural numbers.
4. Find range, median and mode of the following data
13,16, 12, 14, 19, 12, 14, 13, 14

5. Anuradha can do a piece of work in 6 hours, what part of the work can she do
in 1 hour, in 5 hours,6 hours .

IV ANSWER THE FOLLOWING QUESTIONS 4X4=16M

1. A can contains 24 litres of oil, 750ml of oil has leaked, how many pouches of
930ml each can be made from the remaining oil.

2. Radhika saves money by putting an equal amount of money each day in her
piggy bank, if during the month of june she accumulated rupees 442.50, find the
amount saved per day.

3. A cricketer score the following runs in 8 innings 58, 76, 40, 35, 46, 45, 0, 100
find the mean, median, mode and range.

4. Rani ate 2/7 part of a cake while her brother Ravi ate 4/5 of the remaining
cake part of cake left is ?




Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)
Time — 1 & Half Hrs  Class-VI1I (Social Science) M.M.-40

1. Choose the correct options and write the answers: 1x6=6

I. Cartographer is a person who makes

a. cartoons b. maps C. caricatured d. none of these
ii. Which of the following does not mean 'Foreigner'?

a. stranger b. pardesi c. ajnabi d. citizen

iil. Which new dynasty developed in eastern part of sub continent ?

a. cholas b. palas c. chahamanad d. rashtrakutas
iv. Which one of the following is a basic life support system?

a. music system b. environment c. transportation  d. none of these
v. The upper most layer of the earth's surface is called.

a. the crust b. the mantle c. the inner core  d. none of these
vi What does democracy mean ?

a. equal rights b. unequal rights  c. discrimination  d. all of these
2  Fill in the blanks : 12x1-12

a. was the first state to introduce midday meal scheme.

b. It is the responsibility of the to provide proper healthcare to all.
C. is one of the healthiest country in N. America.

d. Hydrosphere is a part of

e. is the hard top layer of the earth

f Lava is the molten magma from of the earth's surface.

g. Limestone under excessive heat and pressure changes into

h. defeated Md. Gori.

. wrote Kitab -al-Hind.

J. Knowledge of earned Brahmanas a lot of respect.

k. Shias and Sunnis are two divisions of

l.

Manuscripts provide a lot of information to the

3. Answer the following questions: 4x1- 4

a. Who was termed as a foreigner?
b. Name the ruling dynasties between 7th to 12th ¢ ?




c. Name any two water borne diseases.
d. Define barter system.
4. Answer the following questions:

a. HISTORY 3X2-6

I. What are the difficulties historians face in using manuscripts ?
il. How did the Rashtrakutas become powerful?
ii. What kind of irrigation work was developed in Tamil region in 7th-12th c?

b. GEOGRAPHY 3x2-6

I. Which are the major components of the enviornment?
il. What are the three layers of the earth ?
iii. What are the uses of rocks ?

C. CIVICS 3X2=6

I. Do you think there is still inequality in society? Give example from the
chapter'ON EQUALITY". Il. What problems do we face in private hospitals ?
iii. In what way is the public health system meant for everyone ?




Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)

Time — 1 & Half Hrs Class-VII (Science) M.M.-40
I. Choose the best answer 5X1=5
1. Green Pigment present in the leaves is called
a. Haemoglobin b. Albumin c. Globulin d. Chlorophyll
2. Bile is produced in
a. Spleen b. Blood c. Gall Bladder d. Liver
3. Which of the following does not yield wool?
a. Goat b. Camel c. Yak d. Woolly dog
4. An iron ball at 40° C is dropped in a mug containing water at 40° C. The heat
will

a. Flow from water to iron ball
b. Not flow from iron ball to water or from water to iron ball
c. Flow from iron ball to water
d. Increase the temperature of both
5. What is the scientific name of mulberry tree?
a. Desmodium girence b. Morus alba c. Magnifera Indica  d. None of these
I1. Answer the following questions

6. What is the use of the Kink? (1)
7. Define “Reeling” Q)
8. What is the S.1. unit of temperature? Q)
9. Write the function of large intestine. Q)
10. What are the types of fibres obtained from fleece? Q)
11. Write a short note on occupational hazard. (2)
12. State any two similarities between the laboratory thermometer and the
clinical thermometer (2)
13. How do plants obtain the raw material from the surroundings? (2)
14. How is food prevented from entering the wind pipe? (2)
15. How would you test the presence of starch in leaves? (3)
16. What do the inner lining of the stomach secrete? Write the function of each
of them? 3)

17. With the help of an activity show how does the heat travel in air? 3)
18. Complete the following table. 3)

S.No. | Name of breed State where found (any one)

1, Lohi (i)

2. Marwari (i)

3. Patanwadi ii.
19. a. Draw a well labeled diagram of human digestive system. (3)

b. Distinguish between a parasite and a saprotraph (any 2) (2)
20. a. Explain how the caterpillar makes silk thread. 3)

b. Why it is more comfortable to wear white or light coloured clothes in the
summer and dark coloured clothes in the winter? (2)
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